
I ordpusslet gömmer sig 18 träd. Kan du hitta alla?
De har gömt sig vågrätt  lodrätt  och diagonalt  

Hitta träden!

Al

Alm

Ask

Asp

Björk

Bok

Ek

Fågelbär

Gran

Hägg

Kastanj

Lind

Lärk

Lönn

Oxel

Rönn

Sälg

Tall

D U P Ä F F Ä L L V P Å T T R T O

N O R R V I Å O Å P L P A P Ä R W

F B S K A L S G U O R M L R Å E F

K F L Ä Y S R K E U N D L Ä R K C

W U P R L R I S G L I M U F A O K

M B T A F G T B O K B N Y V I R Ö

G S J A C U T G X A H Ä G G N D R

L S H Ö D T D P E Y R A R M T P G

Ä T Ö G R A N A L E Ö V A L E G H

O P P Ä R K G Y G F A Z Y C R I Ö

S C L L D Å D A L M R N H G F L A

D P E L Y A L H Ö G X T A G F A E

A Å N K A S T A N J D E R S R L R

L A S G T K Ö J N H Å K K G P L A

S C N L L N E R S T P V A S E P E

D I B I V O Å F C S R Ö N N R P I

V L K D J T U I Y N P G G V Ö S H


